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FH 21010%xxxxxxx40616 EiX | IMXTEE [ 905 917 91.1 =
K IR 21010%*xxxxxx50028 EiX | IHXTEE 88 915 89.75 =
XEE 2101 0%+#xxxxx03126 EEX | IHXTEE 90 88.3 89.15 =
ERE 211 28#wwwrrrx 1 082X SX | IHXTEE 81 96.5 88.75 =
B 2101 0%#xxxxxx06948 BEEX | IMX TEE 86.5 90.6 88.55 !
%) 2101 0%xxxxxxx44013 BEEX | IMX TEE 87 89.8 88.4 =
X FHFE 2205 2kkkkrrrr 23821 SX | IHXTEE 84 92.2 88.1 =
I [5] 21010%++++++x12326 | EFEX | IEX L& | 895 86.6 88.05 =
BRI 22030+ xxxxxx53424 BEEX | IMX TEE 83.5 92.3 87.9 !
EEE 21080*#xxxxxx24023 BEEX | IMX TEE 85 90.6 87.8 =
B 21130 ###xxxx51613 EEX | IHXTEE 83 919 87.45 =
SEEHE 21010%xxxxxxx84326 EEX | IMXTESE 86 88.7 87.35 =
K oR 2101 0% xxxxxx43434 EEX | IMXTESE 88 86.4 87.2 =
X i 2101 0% ###x5xx01223 SEX [ 1XTHEE [ 895 84.9 87.2 =
iRk 2101 0%xxxxxxx41844 EEX | IHXTEE 89 85.3 87.15 =
B 2101 0%xxxxxxx31423 EEX | IMXTESE 85 89.1 87.05 =
BEEH]  23270%x0xxxxx70021 EEX | IMXTESE 88.5 85.6 87.05 2
S 21010 #####xx93422 EiX | IHXTEE 82 91.4 86.7 =
E 22060 ###xxx 70360 EHEX | IHXTEE 86 87.1 86.55 =
EE 2101 0% ##wrxx02212 BRX | IMXTEE [ 805 92.2 86.35 =
F{EFE 15232 xxxxxxx30028 EEX | IMXTESE 86.5 86.1 86.3 =
SR 21010 xxwnxx31225 EEX [ IMXTHEE [ 875 84.8 86.15 =
=1t 21010%xxxxxxx63426 EEX | IMXTESE 85.5 86.6 86.05 =
K8 21130%xxxxxxx41646 EEX | IMXTESE 83 89 86 =
= FH 21010%*xxx++x65026 EfX | IMXTEE 83 88.9 85.95 =
NP E 2101 0%xxxxxxx5334X EfX | IMXTEE 86 85.7 85.85 =
KT 2101 T xxxxxxxx 24229 EfX | IMXTEE 84.5 86.9 85.7 =
R FEE 21068+ xxxxxx46783 EfX | IMXTEE 85 86.4 85.7 =
e 21088 xxxxxx40614 EfX | IMXTEE 82 89.2 85.6 =
X {ET 21010%xxxxxxx 24629 EfX | IMXTEE 78 93.1 85.55 =
FET 2101 25kkrrrrx 31011 EfX | IMXTEE 83 88.1 85.55 =
TERS 2101 2% xxxxxxx40027 EfX | IMXTEE 85.5 85.4 85.45 =
] 2101 #xxxxxxx00328 EfX | IMXTEE 87 83.7 85.35 =
= 21010%**xxxxx 75242 EfX | IMXTEE 85.5 85.1 85.3 =
STOHFE 2101 0%*x*+++x93618 EiX | IMXTEE [ 835 87.1 85.3 =
MEE 2101 xxxxxxxx0232X EX | IMXTEE [ 865 84.1 85.3 =
ME 21010%*xxxxxx04925 EfX | IMXTEE 79 915 85.25 =
B 2101 2% xxxxxxx32248 EfX | IMXTEE 84 86.2 85.1 =
X —k 21102#**xxx+x35818 EfX | IMXTEE 80 90.1 85.05 =
Z A 21010%***xx+x51546 EEX | IMXTEE ] 845 85.5 85 =
NI {EIH 21018*xxxxxxx48025 EfX | IMXTEE 83 86.9 84.95 =
SEIR 21010%*xxxxxx35222 EfX | IMXTEE 88.5 81.2 84.85 =
g 21010%***+++x55319 EX | IMXTEE 85 84.6 84.8 =
FEF 21010%*xxxxxx20010 EfX | IMXTEE 85 84.5 84.75 =
K 21038 xxxxxxx 20445 EfX | IMXTEE 87 82.5 84.75 =
sIEE 2101 T #rrxxxxx82524 EX | IMXTEE 80.5 88.9 84.7 =
EERE 22020%*xxxxxx80328 EfX | IMXTEE 84.5 84.8 84.65 =
oK 21010%xxxxxxx72523 EfX | IMXTEE 785 90.7 84.6 =
3R 21010%*+xxxxx832367 EX | IMXTEE 87 82.1 84.55 =
ERES 2101 2% xxxxxxx60024 EfX | IMXTEE 84.5 84.6 84.55 =
2R 21050+ ++xxxx51229 EfX | IMXTEE 84 85.1 84.55 =
EIAA 21018*xxxxxxx18066 EfX | IMXTEE 83 86 84.5 =
SoH 2101 0%****xxx85318 EEX | IHMXTEE] 795 89.3 84.4 =
SIRE 21010%xxxxxxx22329 EX [ IMXTHESR 81 87.6 84.3 =
K= 2101 2#xxxxxxx90325 EX [ IMXTHESR 80 88.5 84.25 =
Hein 2101 2%xxxxxxx10919 EX [ IMXTHESR 86.5 81.9 84.2 =




Tk 21122##xxxxxx70020 EEX | IMX TEE 84.5 83.7 84.1 !
E 2101 1rwrrxsxx31122 EEX | IMX TEE 87 81.1 84.05 !
AhE 21010%**xxxxx30526 EX [ IMXTHESR 815 86.5 84 =
EE 21078+ xxxxxx91469 EX [ IMXTHESR 85.5 82.5 84 =
B8R 2101 Txrxxxxxx 10012 EiX | IMXTEE 86 81.9 83.95 =
B 21010%****xxx95329 ERX | IMXTEE 86 81.8 83.9 =
UES 21050%*xxxxxx 70647 EX [ IMXTHESR 85 82.8 83.9 =
R 21010%xxxxxxx67216 EiX | IMXTEE 85 82.7 83.85 =
=i 2101 0%*#xxxxx96021 EX [ IMXTHESR 81 86.7 83.85 =
e300 21010%xxxxxxx 70824 EiX | IMXTEE 81 86.7 83.85 =
R E 2101 2%xxxxxxx60924 EX [ IMXTHESR 84.5 83.2 83.85 =
ZHriH 21010%xxxxxxx04927 EiX | IMXTEE 85 82.6 83.8 =
FEY 21010%*#xxxxx 75522 EiX | IMXTEE 80.5 87.1 83.8 =
N 2101 1xxkrrrxx (5722 EEX | IHXTEE] 805 86.8 83.65 =
E=X5 2304 0%*xxxxxx00523 EX [ IMXTHESR 84.5 82.7 83.6 =
EYr 155%++xx+73 EiX | IMXTEE 87 80.1 83.55 =
KE 21010%x#xxxxx93422 EX [ IMXTHESR 84.5 82.6 83.55 =
KX 21010%**#*xxx94316 EX | IMXTEE 82 85.1 83.55 =
XBEE T 2101 0%**xxxxx53623 EEX | IMXT{EE] 835 83.6 83.55 =
FE 21012 xx##xxx04527 EX | IMXTEE 83 84 83.5 =
REIE 6103 25xwrrrrrx 423X EEX | IHXTEE] 795 87.5 83.5 =
FREEF 2101 0%xkxrrxx63721 EX | IMXTEE 82 84.9 83.45 =
=R 21122 x5xxxxB0446 EEX | IHMXTEE] 885 78.4 83.45 =
FoE 2101 0% xx#xxx 44022 EX | IMXTEE 80 86.8 83.4 =
= {ERE 2101 2##xxxx5%x 70044 EX [ IMXTHESR 84.5 82.3 83.4 =
A 21012 *###x#xxx50059 EEX | IHMXTEE] 845 82.3 83.4 =
SKIEEE 2101 2% xswrrnx 23825 EEX [ IMXTEE 81 85.8 83.4 =
RS 2101 25xxxxxxx03622 EEX | IHXTEE] 845 82.2 83.35 =
=55 21088xxxxxxxx62727 EEX | IMXTEE] 855 81.2 83.35 =
=54 2101 xxxxxxxx03602 EEX | IHMXTEE] 875 79.1 83.3 =
T 2101 2% xxxxxxx00628 EEX [ IMXTEE 80 86.6 83.3 =
(BB 21040%xxxxxxx40326 EX [ IMXTHESR 77.5 89.1 83.3 =
By g 21010%***xxxx95724 EEX | IHXTEE] 805 86 83.25 &
TiE% 2101 Lxxxrrxxx52524 EEX | IHXTEE] 865 79.9 83.2 =
MR 21088 xx#xxxxx80426 EEX [ IMXTIEE 81 85.2 83.1 &
ki 2101 0%**xxxxx54828 EEX | IHXTEE] 805 85.6 83.05 =
B 21010%xxxxxxx10644 EX | IMXTEE 83 83.1 83.05 =
XHE 2101 0% *swwrxx4 3722 EEX | IHXT{EE ] 855 80.5 83 =
F¥H 2101 0%xxxxxxx4032X EEX [ IMXTEE 79 86.9 82.95 =
513 2101 0% *s##xxx62727 EEX | IHXTEE] 815 84.2 82.85 =
3 7 7% 2101 1#**#xxxxx35125 EEX | IHXT{EE ] 855 80.2 82.85 =
G 21018*#x##xxx04921 EEX [ IMXTEE 81 84.7 82.85 =
=i 2101 2%+ xxxxxx8004X EEX | IHXTEE] 805 85.2 82.85 =
B 2101 0%+ xxxxxx51221 EEX [ IMXTIEE 81 84.6 82.8 &
Rix 2101 25xxxxxxx61627 EX | IMXTEE 84 81.6 82.8 &
B 2107 25xkrrrrx 20721 EX | IMXTEE 79 86.6 82.8 &
DR 21071 Lxxxrrrrx1056X EnX | IMXTHESR 80.5 85 82.75 =
ARG ST 21010%xxxxxxx01827 EnX | IMXTHESR 81.5 83.9 82.7 =
=ik 2101 0%xxxxxxx36023 EnX | IMXTHESR 82.5 82.9 82.7 !
Edca 2101 25xkrrrrx 10641 EEX | IMXTEE [ 845 80.9 82.7 =
HJELE 21030+ xxxxxx60012 EnX [ IMXTHESR 83.5 81.9 82.7 =
BE® 21078*xxxxxxx10016 EEX [ IMXTHEE [ 815 83.9 82.7 =2
TEE 2207 0xxxxxxxx 74222 EnX | IMXTHESR 84.5 80.9 82.7 !
FEH 21050+ xxxxxx 70024 EnX | IMXTHESR 81 84.3 82.65 =
MR 21010%xxxxxxx80527 EEX [ IMXTHEE [ 805 84.7 82.6 =
2= 2104 2% xxxxxxx14529 EnX | IMXTHESR 79 86.1 82.55 =
=8E 2101 25wrrrrrxB0BAX EX | IMXTEE 82 83.1 82.55 =2
B g% 1504 2% xxxxxxx92748 EX | IMXTHESR 81.5 83.5 82.5 !
i 2107 2xxxxxxxx10725 EX | IMXTHESR 85.5 79.4 82.45 2
T R 2101 Lrxrrrrxx 72026 EX | IMXTEE [ 845 80.3 82.4 =
SF 2101 2% xxxxxxx60412 BEX | IMX TEE 80.5 84.3 82.4 !
X TEf 21138xxxxxxx31025 BEX | IMX TEE 82.5 82.2 82.35 !
X BEER 21010%*xxxxxx94628 EX | IdXTEE [ 835 81.1 82.3 =




Bt s 2101 2%xxxxxxx50222 ERX | IMXTEE 87 77.6 82.3 =
fNEtE 21012+ *xxxxx00326 EEX | IMX TEE 79.5 85 82.25 !
XA 2101 2##xxxxxx84224 EEX | IMX TEE 83 81.5 82.25 !
TEH 2101 0%+*xxxxx61026 EEX | IMX TEE 83.5 80.9 82.2 =
ZE 2101 2xxxxxxxx 43624 EEX | IHXTEE] 775 86.8 82.15 =
FI 23118xxxxxxxx14045 EEX | IHMXTEE] 785 85.7 82.1 =
X F 2101 0%#+*xxxxx05826 EX [ IMXTHESR 78.5 85.6 82.05 =
XK T 2104 2xxxxxxxxBA242 EEX | IHMXTEE] 785 85.6 82.05 =
EA 2101 2%+ *xxxxx80219 EEX | IMX TEE 85 78.9 81.95 =
FFAK 2101 2% xxxxxx00627 EX [ IMXTHESR 82.5 81.3 81.9 =
I3 2101 8*#xxxxxx02727 EEX | IMX TEE 80 83.8 81.9 =
X% 2101 2% xxxxxxx 71523 EX [ IMXTHESR 84.5 79.2 81.85 =
s 21018 xxxxxxx68025 EX [ IMXTHESR 80.5 83.2 81.85 =
BRI 2T 21010%xxxxxxx13022 EX [ IMXTHESR 81 82.6 81.8 =
HiEH 21071 2% xxxxkrx1063X EX [ IMXTHESR 85 78.5 81.75 =
tHFF 21010%xxxxxxx34068 EX [ IMXTHESR 85 78.5 81.75 =
5K WY 22088xxxxxxxx90520 EX [ IMXTHESR 79 84.4 81.7 =
B 2101 255555260029 EX | IMXTEE 88 75.4 81.7 =
ke 21010%xxxxxxx23720 EiX | IMXTEE [ 805 82.8 81.65 =
=5F 21010 xxxxxxx13425 EX [ IMXTHESR 84.5 78.8 81.65 =
DEL 2101 0%xxxxxxx 42822 EiX | IMXTEE [ 815 81.8 81.65 =
=F 2101 I xxxxxxxx 20524 EX [ IMXTHESR 80.5 82.8 81.65 =
FE 2101 0%xxxxxxx60622 EX [ IMXTHESR 77.5 85.6 81.55 =
R\ 5 2101 0%xxxxxxx93122 EEX | IHMXTEE] 875 75.6 81.55 =
E 2101 0%xxxxxxx 44922 EX | IMXTEE 83 80 815 =
X1 T 48 2327 2xxxxxxxx 70026 EEX | IHXTEE 78 84.9 81.45 =
B 21148 xxxxxxx07029 EX | IMXTEE 84 78.8 81.4 =
F Rk 2101 0%xxxxxxx 71223 EEX | IHMXTEE] 815 81.2 81.35 =
T 2101 2%+ xxxxxx61821 EX | IMXTEE 88 74.7 81.35 =
EJN 2307 0%xxxxxxx00360 EX | IMXTEE 88 74.7 81.35 =
TR 21060%xxxxxxx6052X EX | IMXTEE 80 82.6 81.3 =
X EE 22038xxxxxxxx50829 EX | IMXTEE 87 75.5 81.25 =
T EE 2103 25##wrrxx5002X EEX | IMXTEE [ 845 78 81.25 =
BE 2101 2% xxxxxxx81021 EX [ IMXTHESR 82.5 79.8 81.15 S
KB 210925 xxxxxxx16123 EX | IMXTEE 84 78.3 81.15 =
TET 7% 2101 0%xkrrrrx 43121 EX | IMXTEE 83 79.2 81.1 =
FNERE 2311 2sxxxxxxxx90022 EX [ IMXTHESR 84.5 77.6 81.05 S
K RRIE 2101 0%**xxxxx66018 EEX | IHXT{EE ] 835 78.5 81 =
NEES 21010%**#xxxx85320 EEX | IHXTEE] 865 75.5 81 =
[Ed= 2101 25wwrrrrx5002X EEX | IMXTEE | 785 83.5 81 =
RN 21010%xxxxxxx20220 EX [ IMXTHESR 82.5 79.4 80.95 5
= 21011 xxxxxxxx 74226 EX [ IMXTHESR 77.5 84.4 80.95 S
X F % 2101 0%*#x##xx00021 EX | IMXTEE 88 73.8 80.9 =
e 2101 0%#xxxxxx65315 EX [ IMXTHESR 84.5 77.2 80.85 S
NES 21018*xxxxxxx58020 EEX | IMXTEE [ 825 79.2 80.85 =
Dal 2101 0%xxxxxxx44385 EX | IMXTHESR 81 80.6 80.8 =
TKER BN 21010%xxxxxxx95540 EnX | IMXTHESR 82 79.6 80.8 =
kT 21010%xxxxxxx 41244 EnX | IMXTHESR 78.5 83 80.75 5
L 21040%xxxxxxx63028 EnX | IMXTHESR 79.5 82 80.75 5
ok {5 21018###wrrxx0805X EX | IMXTEE 83 78.5 80.75 =
= 2101 0%xxxxxxx13718 EnX [ IMXTHESR 81.5 79.9 80.7 5
i 21010%xxxxxxx20020 EnX [ IMXTHESR 78.5 82.9 80.7 5
B 21010%xxxxxxx42220 EnX | IMXTHESR 83.5 77.6 80.55 5
EFE 2101 Lxxrrrxx60552 EnX | IMXTHESR 82 79.1 80.55 5
AV 2204 25w xxxxxx 71 21X EnX [ IMXTHESR 78 83.1 80.55 5
X|FE 21122%xxxxxxx 70242 EX | IMXTEE 79 81.9 80.45 =
X5 2101 0%xxxxxxx22824 EnX | IMXTHESR 79 81.8 80.4 =
FEE 2101 2%xxxxxxx 70029 EX | IMXTHESR 83.5 77.3 80.4 5
B3 23210 ###xxxxx90044 EnX | IMXTEE 81 79.8 80.4 =
F/0HT 2101 0%#xxxxxx82218 BEX | IMX TEE 82 78.7 80.35 5
FFIH 2101 2% xxxxxx00620 BEX | IMX TEE 83 77.7 80.35 5
=2 21148 xxxxxxx90029 BEX | IMX TEE 81.5 79.2 80.35 5
B 2101 0%#xxxxxx30662 BEX | IMX TEE 78 82.6 80.3 )




FE 3 21138xxxxxxxx 70013 EX [ IMXTHESR 775 83.1 80.3 5
ISREES 2101 2% xxxxxxx40627 EX [ IMXTHESR 80.5 79.7 80.1 5
B 278 15282 xxxxxxx85727 EX [ IMXTHESR 78 82.1 80.05 5
ERE 2101 0%xxxxxxx84225 EX [ IMXTHESR 79.5 80.6 80.05 5
SRE 21010%**xxxxx50749 EiX | IMXTEE 83 77.1 80.05 5
= 21010%**xxxxx53145 EX [ IMXTHESR 81 79.1 80.05 5
FES 2101 0%*xxxxxx52828 EX [ IMXTHESR 79.5 80.4 79.95 5
KR 2101 0%xxxxxxx03128 EX [ IMXTHESR 82 77.9 79.95 5
EE] 2107 2% xxxxxxx90314 EX [ IMXTHESR 78 81.7 79.85 5
B2 2101 1##xrxxxx 71660 EEX | IMX TEE 80 79.6 79.8 &
3k 2101 2% xxxxxx% 23026 EX [ IMXTHESR 775 82.1 79.8 5
353 21052%xxxxxxx02624 EX [ IMXTHESR 82 77.6 79.8 5
==& 2101 1xxxrrxxxB0563 EX [ IMXTHESR 84 75.5 79.75 5
= A 21040%xxxxxxx10669 EX [ IMXTHESR 775 81.8 79.65 5
SEFIEN 13082+ xxxxxx90049 EX [ IMXTHESR 78 81.2 79.6 5
B 2101 1xxxxrxxx35626 EX [ IMXTHESR 80 78.9 79.45 5
2B 211 20#xxxxxx1002X EEX | IMX TEE 78 80.9 79.45 %
&7 21010%xxxxxxx50021 EX [ IMXTHESR 84.5 74.2 79.35 S
XJZEZ 2101 Lrexrrrrxx80047 EEX | IHMXTEE] 785 80.1 79.3 =
BR 22240%xxxxxx% 2 033X EEX | IHMXTEE] 805 78 79.25 S
=8 21018 *##xxxx98028 EEX | IHMXTEE] 805 77.8 79.15 =
2K F 21060+ xxxxxx35025 EX [ IMXTHESR 85.5 72.8 79.15 S
X {E 2101 0%xxxxxxx03724 EX | IMXTEE 79 79.2 79.1 =
A= 2101 0%+ xxxxxx63121 EX | IMXTEE 79 79.2 79.1 =
Il 2101 1xxxxxxxx50558 EEX | IHMXTEE] 785 79.6 79.05 =
Ve 2101 25xxxxxxx92715 EEX | IHMXTEE] 785 79.6 79.05 =5
Z8W | 2111000000006 2274X EX | IMXTEE 78 80.1 79.05 =
EEE 2101 0%xxxxxxx84041 EX [ IMXTHESR 77.5 80.4 78.95 S
%A 2101 2##xxxx5%x 70334 EX [ IMXTHESR 84.5 73.4 78.95 S
SK BN 21010%##wrxxx9612X EX | IMXTEE 82 75.9 78.95 =5
KB IR 2101 2% xssrrxx63217 EEX | IHXTEE] 775 80.3 789 =
FREEF 21050 *##xxxx60320 EEX | IHXTEE] 785 79.2 78.85 =
I 2101 0% *#rxx 76128 EX | IMXTEE 83 74.6 78.8 =
x5 2101 0%*x#xxxx33429 EEX | IHXTEE] 775 79.7 78.6 =
X EE 2101 0%*xxxxxx63425 EEX | IHXTEE] 845 727 78.6 =
e 21090***xxxxx80029 EEX | IHXTEE] 815 75.5 785 =
ETSH4 21100+ *xxxxx66626 EEX | IHXTEE] 795 77.1 78.3 =
F En 21028 x##xxx 75749 EEX | IHXTEE] 795 77 78.25 =
I[BES 2101 0%xxxxxxx14621 EX [ IMXTHESR 78 78.2 78.1 )
O 21010 *##kxx 75234 EEX | IHXTEE] 805 75.3 779 =
X 2101 1xsxssrrxd 5721 EEX | IHXTEE] 775 78.3 779 =
KIH 21071 0xxxxxxxx9522X EX [ IMXTHESR 79.5 76.2 77.85 S
= WitE 2101 0%*kxrrxx61021 EEX | IHXTEE] 785 77.1 778 =
F= 2101 2%xxxxxxx60316 EX | IMXTEE 78 77.5 77.75 =
FThA 2101 25wrrrrrx 7122X EEX | IHXTEE] 805 74.9 777 =
KRR B 21010%xxxxxxx93041 EX | IMXTHESR 79.5 75.8 77.65 5
= H 21018 xxxxxxx48016 EnX | IMXTHESR 81 74.1 77.55 5
Y 2101 2555555502020 EX | IMXTEE 79 75.9 77.45 =
RES 2101 Lrwrrrrrx 70621 EnX | IMXTHESR 82.5 72.1 773 5
JEELR 21138xxxxxxxx 13427 EnX | IMXTHESR 80.5 74.1 773 5
2 1H 21010%xxxxxxx 22220 EX | IMXTEE 78 76.5 77.25 =
KE 21018 xxxxxxx90049 EnX [ IMXTHESR 78 76 77 =
ZFF 21010%*xxxxxx10920 EnX | IMXTHESR 77.5 76.4 76.95 5
5 21122 xxxxxxx5632X BEX | IMX TEE 79.5 74 76.75 5
K5 21010%xxxxxxx12825 EEX [ IMXTHEE [ 805 727 76.6 =
BEkF 21010%**xxxxx54613 EnX | IMXTHESR 85.5 67.7 76.6 5
EVIS A 37082+ xxxxxx65325 EEX [ IMXTHEE | 775 75.6 76.55 =
ERIEE 2307 2xxxkrrx2382X EX | IMXTHESR 81 72 76.5 =
2B 21011 xxxxxxxx 26526 EX | IMXTHESR 79.5 73.4 76.45 5
KEF 21018rxxxxxxx12714 BEX | IMX TEE 79 73.6 76.3 )
B 22028 *#xxxxx%x 27520 BEX | IMX TEE 80 72.2 76.1 )
X3 22042 xxxxxxxx 70822 BEX | IMX TEE 85 67.2 76.1 )
el E%F 2101 T xxxxxxxx31216 EX | IMXTEE 77.5 74.6 76.05 5




NI B A 21010%xxxxxxx82827 EiX | IMXTEE 85 67 76 &
B3 2101 2% xxxxxxx 70023 EX [ IMXTHESR 78 74 76 %
EZ8F 34040####x+++40429 EX [ IMXTHESR 79.5 71.9 75.7 5
X Bk 37098###x++xx03115 EX [ IMXTHESR 85 66.1 75.55 5
i IR 2101 0%xxxxxxx 34725 EEX | IHXTEE] 775 73.4 75.45 =
= 21010%xxxxxxx62219 EX [ IMXTHESR 79.5 71.2 75.35 5
SEE 21138xxxxxxxx90622 EX [ IMXTHESR 80 70.7 75.35 5
HERY 21018*xxxxxxx04948 EX [ IMXTHESR 79.5 71.1 75.3 5
T2 5% 21120%#xxxxxx32042 EEX | IMX TEE 83 67.6 75.3 %
Jion 2101 0%#xxxxxx20749 EEX | IMX TEE 83.5 66.8 75.15 &
XIJ 8 21088xxxxxxxx23047 EX [ IMXTHESR 78.5 718 75.15 5
INEZS 2301 2% xxxxxxx 70043 EEX | IMX TEE 81 68.6 74.8 %
0L fi 2101 0%#+xxxxxx62126 EEX | IMX TEE 80.5 68.9 74.7 S
% 2101 T#rrxxxxx82523 EX [ IMXTHESR 81 68.1 7455 5
e 2101 2% xxxxxxx23921 EX [ IMXTHESR 81 68 745 5
RETT 2101 Lrwrrrrrx0622X EX [ IMXTHESR 815 67.3 74.4 5
5K A 8 41078 rxxxxxx63123 EX [ IMXTHESR 775 70.7 74.1 %
X FHE 2101 0%xxxxxxx84128 EX | IMXTEE 88 59.9 73.95 =
B SN 21138xxxxxxxx83247 EEX | IHXTEE] 795 68.3 739 =
MR — 21120 xxxxxxx10012 EX [ IMXTHESR 78.5 68.2 73.35 S
B 2101 1xssrrrrxd 2724 EX | IMXTEE 81 64.7 72.85 =5
SR 2101 8xxxxxxxx61843 EX | IMXTEE 87 58.2 72.6 =
=i 21100 ++xxxxx5212X EX [ IMXTHESR 79.5 65.3 72.4 S
FHEX 2101 Lrwrrrrrx0272X EX | IMXTEE 79 64.4 717 =
RIE 2101 0% *xxxxxx84925 EX | IMXTEE 80 62.8 71.4 =
RS 21010%#wwrrrx4492X EX | IMXTEE 84 58.8 71.4 =
=F1T 2113 25xxxxxxx32860 EEX | IHMXTEE] 785 63.5 71 =
B 2101 0%#xxxx%x33123 EX [ IMXTHESR 77.5 63 70.25 S
=2 21010%xxxxxxx 70042 EX | IMXTEE 78 61.4 69.7 =
RENR 2101 Lrwrxxxxx02726 EX [ IMXTHESR 77.5 61 69.25 S
% b 21138xxxxxxxx60827 EX | IMXTEE 78 60.3 69.15 =
kil 21120%xxxxxxx03017 EX | IMXTEE 79 58.8 68.9 =
7NFF 210925 xxxxxxx33327 EX | IMXTEE 82 50.9 66.45 =
ERHE | 21090%0+x20525 | EIX | IMX L{E& | 82 17 49.5 £
B H5 2101 T wxxxxxxx34219 EX [ IMXTHESR 77.5 20.4 48.95 5
FekE 21010%xxxxxxx21926 EX [ IMXTHESR 84.5 6.8 45.65 S
=B 2101 0%xxxxxxx06334 EEX | IHXTEE] 835 6.8 4515 =
o 2101 1#**#xxxx40555 EX | IMXTEE 79 6.8 429 =
%1 2101 xxxxxxxx 23082 EX | IMXTEE 82 0 41 =
K 2101861560 EX | IMXTEE 82 0 41 =
Kk 21090**###xxx33021 EX | IMXTEE 81 0 40.5 =
HREE 21132 xswrrxxB4524 EX | IMXTEE 81 0 40.5 =
Gt 2107 1xxssrxxx94427 EEX [ IMXTHEZE] 805 0 40.25 =
KR 2101 0%*x#xxxx 24915 EX | IMXTEE 78 0 39 =
EST 2101 8*#xxxxxx58040 EX [ IMXTHESR 77.5 0 38.75 S
TFE 4127 Dxxxxxxxx51872 EEX | 2RE+E 86.5 93.5 90 =
=BT 2101 T #xxxxxxx23818 BEEX | 2BiRt+=x 81 87.3 84.15 2
X ET 2101 0%xxxxxxx60410 BEEX | 2BiRt+=x 83.5 83.9 83.7 2
X RS 21010%xxxxxxx71555 BEEX | 2B+ 78 89.3 83.65 2
T= 2101 0%#xxxxxx52836 BEEX | 2BiRt+=x 78.5 87.8 83.15 !
5 21071 Lxxrrrrrx1601X BEEX | 2BiRt+=x 72.5 91.2 81.85 !
X 4512 2101 25#xxrxxx90021 EEX | 2RE+E 82 81.1 81.55 =
BEER 23022 xxxxxxx10033 BEEX | 2B+ 72.5 90.1 81.3 2
= 21918 xxxxxxx60049 BEEX | 2BiRt+=x 67.5 94.6 81.05 !
FEE 2101 Lrxrrrrxx 14716 EEX | 2RE+E 68 93.4 80.7 &
K 1E3C 2101 0%**xxxxx53731 EEX | 2RE+E 78.5 815 80 =
RESES 2107 2%xxxxxx%x22123 BEEX | 2B+ 67.5 92.2 79.85 !
RJE 22052 % xxxxxx%2 2566 BEEX | 2B+ 66.5 92.8 79.65 !
EA X 21010%###rrxx5001X EEX | 2BE+E 83.5 75.2 79.35 =
B3 2101 2%xxxxxxx61019 BEEX | 2Bixt+= 86.5 71.7 79.1 !
BRE 21010%xxxxxxx04910 BEEX | 2B+ 71.5 86.2 78.85 =
ol 2101 2%xxxxxxx30018 EEX | 2BE+E 72 85.7 78.85 =
BILF 21010%xxxxxxx84012 BEEX | 2Bixt+= 75 79.9 77.45 !




K E 4R 2101 0%#*xxx%x82216 EfX | 2BE+x 66 88.8 77.4 !
F—15 22020 xxxxxxx90315 EEX | 2B1Rt+= 79.5 75.1 77.3 =
B 2101 0% xxxxxx2481X EEX | 2B1Rt+= 67.5 86.9 77.2 !
EE3W 2101 0%+ xxxxxx64677 EfX | 2BE+x 68.5 85.7 77.1 2
EEE 2101 0%xxxxxxx10013 EiEX | 2BELE 68.5 84.8 76.65 =
T 5B 2203 2% xxxxxxx61172 EiEX | 2BELE 65 88 76.5 =
ERIE 2101 2%xxxxxxx51040 EiEX | 2BELE 71 81.6 76.3 =
=X 2101 0% xswwrnx 73117 EiEX | 2BELE 83 69.3 76.15 =
R 23030+ xxxxxx44031 EiEX | 2BELE 64.5 87.8 76.15 =
LR 2101 0%*xxxxxx91910 EiEX | 2BELE 63 88.9 75.95 =
X = FH 2101 0%xxxxxxx41419 EiEX | 2BELE 66 85.4 75.7 =
N 2101 0%xxxxxxx 73337 EiEX | 2BELE 64 86.9 75.45 =
FE/HE 2101 0%#xxxxxx84317 EfX | 2BE+x 70.5 78.8 74.65 S
Foxo] 37088#####xxx34371 EEX | 2BE+E 68 80.8 74.4 S
GER 21010%*xxxxxx83715 EiEX | 2BELE 64.5 84 74.25 5
R {E 21122+ xxxxxxx00323 EiEX | 2BELE 65 83.1 74.05 =
e 21122%xxxxxxx 45222 EiEX | 2BELE 75.5 72.3 73.9 =
ol TEHE 2101 0%*xxxxxx46029 EiX | 2BE+ & 65 82.6 73.8 =5
=—i 2101 Lrxrrrrxx 12017 EiX | 2BE+ & 64.5 82.9 73.7 =5
SR 21010%xxxxxxx10412 EiX | 2BE+ & 69.5 76.1 72.8 S
Ery2 21120%xxxxxxx31273 EiX | 2BE+ & 68 77.3 72.65 =5
KR 2101 25xxxxxxx84813 EiX | 2BE+ & 64.5 79.7 72.1 =5
ZHEES 21018xxxxxxxx14316 EiX | 2BE+ & 67 76.7 71.85 S
BHES 2101 0%xxxxxxx93433 EiX | 2BE+ & 63.5 79.7 716 =5
=R 2101 0%xxxxx13413 EiX | 2BE+ & 64.5 78.7 716 =5
TIE 2101 8##xxxxxx16514 EEX | 2B+ 67.5 75.7 71.6 5
%1Et 21010%**xxxxx51617 EiX | 2BE+ & 65.5 747 70.1 =5
=7 2101 2% xx#xxx33314 EiX | 2BE+ & 66 73.8 69.9 =5
%7 21010%**xxxxx15515 EiX | 2BE+ X 63.5 73.6 68.55 =5
B2 2101 Lwrrrrrx5031X EiX | 2BE+ & 66 70.5 68.25 =5
P 21010%xxxxxxx42218 EiX | 2BE+ & 82.5 53.4 67.95 =5
e N 21012 x#wwnnx 70312 EiX | 2BE+ X 62.5 72.1 67.3 =
R 21120 xxxxxxx60028 EiX | 2BE+ & 63 715 67.25 =
BB 2101 0%#xxxxxx61517 EEX | 2B+ 63.5 68.9 66.2 5
BEHE 21018*xxxxxxx50913 EiX | 2BE+ X 62.5 68.8 65.65 =
B S 21010 *x#xxxx00017 EiX | 2BE+ & 62.5 67.5 65 =
X &= 1% 21142 %xxxxxxx90610 EX | 2BELtE 63 60.3 61.65 =
X;¥ 2101 0%#xxxx%x81519 BEEX | 2B+ 62.5 52.3 57.4 S
FEF 2101 2%xxxxxxx15114 EiX | 2BE+ & 82 0 41 =
X% 21010%*xxxxxx 71010 EiX | 2BE+ & 80.5 0 40.25 =
EESE 2101 2555555580633 EiX | 2BE+ X 79 0 395 =
=S5 231025 xxxxxxx31828 EiX | 2BE+ & 65.5 0 32.75 =
= FHFF 2101 2% xwnnnx 12824 EX BMEEARME 815 92.2 86.85 =
X 22018 xxxxxxx81029 EfX SR EANRE 82 87.5 84.75 =
W | 2101100011123 | WX [BHREAEME 79 88.8 83.9 A
78l 21030 xxxxxxx 72747 BiX BMEEANRE 695 90.9 80.2 2
TRE 21078 rxxxxxx20821 EX BMIREANRE 74 85 79.5 =
TE 2101 Dxwwxxxxx039271 BX BMEEANRE 685 88.6 78.55 5
K4 21010%xxxxxxx44620 BiX BMEEANRE 695 86.5 78 5
TEH 21078 xxxxxxx30027 BiX BMEEANRME 725 74.3 73.4 5
FRHE 21010%xxxxxxx40022 BEX BMEEANRME 795 65.8 72.65 5
XI55 2206 2%+ xxxxx02128 BRX BMEEANRE 695 74.9 72.2 5
ok = I 21090+ 582040 SEX [BMEEAERE 685 0 34.25 =




